Item No. Part No.
1 55-212
2 24-203
3 51-501SS
4 50-520S8S
5 51-51088
6 60-324
7 55-106
8 55-211
9 81-500
9 81-500
10 11-328
10 11-323
11 11-401
12 41-503
13 41-450
14 32-504
15 32-505
16 43-503
17 41-513
N/A 42-706

Mounting Instructions:

1. Place the Hose Reel in the desired location on the
tank and mark the hole locations

2. Drill 3/4" holes in tank to match the Hose Reel

3. Insert the well nuts through each hole

4. Line up the holes in the Hose Reel Base with the

holes you have drilled
5. Install additional plum
Reel
6. Install the Gun Holder

Description

Male Hose Coupling, 1/2"

Hose Clamp, J203

Nipple 3/4" x Clo, SST

Tee 3/4", SST

St Elbow 3/4" x 90°, SST

Ball Valve 3/4"

Adapter 3/4 MPT x 3/4" MGHT
Female Hose Coupling 1/2"
Hose, 1/2" 800 PSI, Per Foot
(81-142 - suggested 5 Ft).
Hose, 1/2" 800 PSI, Per Foot
(81-143 - suggested 6-1/2 Ft).
Hose Reel Support - 81-142 Only
Hose Reel Support - 81-143 Only
Gun Holder

Flat Washers 3/8"

Well Nuts 3/8 x 3/4"

Cap Screws 3/8 x 1-1/4", SST
Cap Screws 3/8 x 1-1/2", SST
Lock Washers 3/8", SST

Nut 3/8", SST

Fender Washer 3/8", SST

e T o N o T E

Specify

Specify

*

in the tank and bolt into place
bing and connect hose to Hose

in a convenient location

~ SDI Hose Reel Mounting
Kit, Part No. 81-142 and

81-143

N\ B hBADBERDA—~DR

.

S|

SPRAYING DEVICES INC.

Detail “A”: Drill two 3/4"
holes for Well Nuts:

(]

Hex Head Bolt
Flat Washer

T

Well Nut

«©

®

PI38/1007jj

Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278 Tel:559-SDI-5555/Fax: 559-SDI-5591




